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narjmWu àíZ-nÌ H$moS> >H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code 

on the title page of the answer-book. 
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 gm_m{OH$ {dkmZ  
 SOCIAL SCIENCE 

 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 

Time allowed : 3 hours  Maximum Marks : 80 

· H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 25 + 1 _mZ{MÌ h¢ & 
· H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >37 àíZ h¢ & 
· àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS> H$mo narjmWu CÎma-nwpñVH$m Ho$  

_wI-n¥ð> na {bI| & 
· H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 

Adí` {bI| & 
· Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 

nydm©• _| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ 
H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

· Please check that this question paper contains 25 printed pages +1 Map. 

· Please check that this question paper contains 37 questions. 

· Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

· Please write down the serial number of the question in the answer-book 

before attempting it. 

· 15 minute time has been allotted to read this question paper. The question 
 paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., 
the students will read the question paper only and will not write any 
answer on the answer-book during this period. 
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo Ü`mZnyd©H$ n{‹T>E Am¡a CZH$m nmbZ H$s{OE : 

(i) Bg àíZ-nÌ _| 37 àíZ h¢ & g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ-nÌ N> : IÊS>m| _| {d^m{OV h¡ – IÊS> H$, I, J, K, L> Ed§ M & 

(iii) IÊS> H$  – àíZ g§»`m 1 go 20 ~hþ{dH$ënr` àH$ma Ho$ àíZ h¢ & àË òH$ àíZ 1 A§H$ H$m h¡ &  

(iv) IÊS> I  – àíZ g§»`m 21 go 24 A{V bKw-CÎmar` àH$ma Ho$ àíZ h¢ & àË òH$ àíZ 2 A§H$m| H$m 
h¡ & BZ àíZm| H$m CÎma 40 eãXm| go A{YH$ Zht {bIm OmZm Mm{hE &   

(v) IÊS> J – àíZ g§»`m 25 go 29 bKw-CÎmar` àH$ma Ho$ àíZ h¢ & àË òH$ àíZ 3 A§H$m| H$m h¡ &  
BZ àíZm| H$m CÎma 60 eãXm| go A{YH$ Zht {bIm OmZm Mm{hE & 

(vi) IÊS> K  – àíZ g§»`m 30 go 33 XrK©-CÎmar` àH$ma Ho$ àíZ h¢ & àË òH$ àíZ 5 A§H$m| H$m h¡ & 
BZ àíZm| H$m CÎma 120 eãXm| go A{YH$ Zht {bIm OmZm Mm{hE & 

(vii) IÊS> L>  – àíZ g§»`m 34 go 36 Ho$g-AmYm[aV/òmoV-AmYm[aV àíZ h¢ {OZ_| VrZ Cn-àíZ h¢ & 
àË òH$ àíZ 4 A§H$m| H$m h¡ &   

(viii) IÊS> M – àíZ g§»`m 37 _mZ{MÌ H$m¡eb-AmYm[aV àíZ h¡ {Og_| Xmo ^mJ h¢ – 37(a) B{Vhmg 
(2 A§H$) Am¡a 37(b) – ŷJmob (3 A§H$) & Bg àíZ Ho$ Hw$b 5 A§H$ h¢ &   

(ix) BgHo$ A{V[aº$, Ü`mZ X| {H$ Ñ{îQ>~m{YV narjm{W©̀ m| Ho$ {bE \$moQ>mo VWm _mZ{MÌ Am{X AmYm[aV 
àíZm| Ho$ ñWmZ na EH$ AÝ` àíZ {X`m J`m h¡ & BZ àíZm| Ho$ CÎma Ho$db Ñ{îQ>~m{YV narjmWu hr 
{bI| &   

IÊS> H$$  
                   (~hþ{dH$ënr` àíZ) (20´1=20) 

1. 1992 _| ^maV _| g§{dYmZ g§emoYZ H$aHo$ {ZåZ{b{IV _| go {H$g g§ñWm _| _{hbmAm| Ho$ 
{bE AmajU H$s ì`dñWm H$s JB© ?  1 

(A) bmoH$ g^m  
(B) amÁ` g^m  
(C) {dYmZ n[afX  
(D) n§Mm`V  

2. ^maVr` g§{dYmZ _| d{U©V ‘{ejm’ {ZåZ{b{IV _| go {H$g gyMr Ho$ A§VJ©V AmVr h¡ ?  1 

(A) g§K gyMr  
(B) amÁ` gyMr  
(C) g_dVu gyMr  
(D) ~mH$s ~Mo> {df`  
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General Instructions : 

Read the following instructions carefully and follow them : 

(i) This question paper contains 37 questions. All questions are compulsory. 

(ii) Question paper is divided into six sections – Section A, B, C, D, E  
and F.  

(iii) Section A – Questions no. 1 to 20 are Multiple Choice type questions. Each 

question carries 1 mark.  

(iv) Section B – Questions no. 21 to 24 are Very Short Answer type questions. 
Each question carries 2 marks. Answer to these questions should not exceed  

40 words. 

(v) Section C – Questions no. 25 to 29 are Short Answer type questions. Each 
question carries 3 marks. Answer to these questions should not exceed  
60 words. 

(vi) Section D – Questions no. 30 to 33 are Long Answer (LA) type questions. Each 

question carries 5 marks. Answer to these questions should not exceed  
120 words.  

(vii) Section E – Questions no. 34 to 36 are Case-based/Source-based questions 
with three sub-questions. Each question carries 4 marks. 

(viii) Section F – Question no. 37 is Map skill-based question with two parts – 
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This 
question carries total 5 marks.  

(ix) In addition to this, NOTE that a separate question has been provided for 
Visually Impaired candidates in lieu of questions having visual inputs,  
map etc. Such questions are to be attempted by Visually Impaired candidates 
only.     

SECTION A 

 (Multiple Choice Questions) (20´1=20) 

1. In which one of the following institutions in India was a system of 
reservation for women made by amending the Constitution in 1992 ?  1 

(A) Lok Sabha 

(B) Rajya Sabha  

(C) Legislative Council  

(D) Panchayat 

2. ‘Education’ falls under which one of the following lists given in the Indian 
Constitution ?  1 

(A) Union List  

(B) State List  

(C) Concurrent List  

(D) Residuary Subjects  
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3. gÎmm Ho$ ~±Q>dmao Ho$ nj _| {XE JE VH$m] H$mo n{‹T>E Am¡a ghr {dH$ën H$m M`Z H$s{OE & 1  

I. njnmV H$s g§^mdZm H$mo H$_ H$aVm h¡ & 

II. {ZU©̀  boZo H$s à{H«$`m H$mo AdéÕ H$aVm h¡ &  

III. {d{dYVmAm| _| gm_§Oñ` ñWm{nV H$aVm h¡ &  

IV. gÎmm _| bmoJm| H$s ^mJrXmar H$mo ~‹T>mVm h¡ &  

{dH$ën : 

(A) Ho$db I, II d III ghr h¢ &  

(B) Ho$db II, III d IV ghr h¢ & 

(C) Ho$db I, III d IV ghr h¢ & 

(D) Ho$db I, II d IV ghr h¢ & 

4. ^maV _| ‘_¢JZrµO’ Ho$ CËnmXZ _| {ZåZ{b{IV amÁ`m| Ho$ A§e (à{VeV _|) Ho$ {bE A{YH$V_ 
go Ý`yZV_ H«$_ dmbo ghr {dH$ën H$m M`Z H$s{OE &  1 

(A) _Ü` àXoe, _hmamîQ́>, H$Zm©Q>H$, Amo{S>em  

(B) _Ü` àXoe, _hmamîQ́>, Amo{S>em, H$Zm©Q>H$  

(C) _hmamîQ́>, _Ü` àXoe, H$Zm©Q>H$, Amo{S>em  

(D) _hmamîQ́>, Amo{S>em, _Ü` àXoe, H$Zm©Q>H$  

5. ñV§̂  I H$m {_bmZ ñV§̂  II go H$s{OE Am¡a ghr {dH$ën H$m M`Z H$s{OE & 1 

 ñV§̂  I 
(~m±Y) 

 ñV§̂  II 
(ZXr) 

i. gaXma gamoda  a. gVbwO  
ii. hramHw$S>  b. H¥$îUm  
iii. ^mI ‹S>m Zm§Jb   c. Z_©Xm  
iv. ZmJmOw©Z gmJa  d. _hmZXr  

{dH$ën :  

(A) i-a, ii-b, iii-c, iv-d 

(B) i-b, ii-a, iii-d, iv-c 

(C) i-c, ii-d, iii-b, iv-a 

(D) i-c, ii-d, iii-a, iv-b 
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3. Read the arguments given in the favour of power sharing and choose the 

correct option.  1 

I. Reduces the likelihood of bias.  

II. Barricades the decision-making process.  

III. Accommodates diversities.  

IV. Increases the participation of people in power.  

Options :  

(A) Only I, II and III are correct.  

(B) Only II, III and IV are correct. 

(C) Only I, III and IV are correct. 

(D) Only I, II and IV are correct. 

4. Choose the correct option for the following States’ share (in percentage) in 

the production of ‘manganese’ in India from the highest to the lowest 

order.  1 

(A) Madhya Pradesh, Maharashtra, Karnataka, Odisha  

(B) Madhya Pradesh, Maharashtra, Odisha, Karnataka 

(C) Maharashtra, Madhya Pradesh, Karnataka, Odisha  

(D) Maharashtra, Odisha, Madhya Pradesh, Karnataka  

5. Match Column I with Column II and choose the correct option. 1 

 Column I  
(Dams) 

 Column II  
(Rivers) 

i. Sardar Sarovar  a. Sutlej  

ii. Hirakud  b. Krishna  

iii. Bhakra Nangal  c. Narmada  

iv. Nagarjuna Sagar  d. Mahanadi  

Options :  

(A) i-a, ii-b, iii-c, iv-d 

(B) i-b, ii-a, iii-d, iv-c 

(C) i-c, ii-d, iii-b, iv-a 

(D) i-c, ii-d, iii-a, iv-b 
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6. ZrMo Xmo H$WZ {XE JE h¢ & `o A{^H$WZ (A) Am¡a H$maU (R) h¢ & XmoZm| H$WZm| H$mo n{‹T>E 
Am¡a ghr {dH$ën H$m M`Z H$s{OE &  1 

A{^H$WZ (A) : {h_mb` _| à{gÕ ‘{MnH$mo Am§XmobZ’ H$B© joÌm| _| dZ H$Q>mB© amoH$Zo _| 
H$m_`m~ ahm & 

H$maU (R) : BgHo$ Ûmam ñWmZr` nm¡Ym| H$s Om{V`m| H$m à`moJ H$aHo$ gm_wXm{`H$ 
dZrH$aU A{^`mZ H$mo g\$b ~Zm`m J`m &  

{dH$ën :  

 (A) (A) Am¡a (R) XmoZm| ghr h¢, bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht  h¡ & 
(B) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì¶m»¶m h¡ & 

(C) (A) ghr h¡, bo{H$Z (R) µJbV h¡ &  

(D) (A) µJbV h¡, bo{H$Z (R) ghr h¡ &  

7. {ZåZ{b{IV _| go {H$gZo H$hm {H$ – ‘‘_wÐU B©ída H$s Xr hþB© _hmZV_ XoZ h¡, g~go ~‹S>m 
Vmohµ\$m &’’ ?  1 

(A) _m{Q>©Z byWa  

(B) _hmË_m Jm±Yr  

(C) OmohmZ JwQ>oZ~J©  
(D) aegw§Xar Xodr  

8. H$m±J«og Ho$ ^rVa ‘ñdamO nmQ>u’ Ho$ g§ñWmnH$m| go g§~§{YV ghr {dH$ën H$m M`Z H$s{OE &  1 

(A) gŵ mf M§Ð ~mog d Odmhabmb Zohê$  

(B) AmMm`© H¥$nbmZr d O`àH$me Zmam`U  
(C) gr.Ama. Xmg d _moVrbmb Zohê$ 

(D) _hmË_m Jm±Yr d gaXma nQ>ob  

9.  [aº$ ñWmZ H$s ny{V© Ho$ {bE ghr {dH$ën H$m M`Z H$s{OE &  1 

‘ aoe_ _mJ©’ ({gëH$ ê$Q>) go ^maV d X{jU-nyd© E{e`m Ho$ ________ Xþ{Z`m Ho$ Xÿgao ^mJm| 
_| nhþ±MVo Wo &  

(A) gmoZo d Mm±Xr Ho$ Am ŷfU  

(B) H$n‹S>o d _gmbo  
(C) AZmO d Xmb|  

(D) bmohm d AÝ` YmVwE±  
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6. Two statements are given below. They are Assertion (A) and Reason (R). 

Read both the statements and choose the correct option.  1 

Assertion (A) : The famous ‘Chipko Movement’ in the Himalayas 

successfully resisted deforestation in several areas. 

Reason (R)  : Through this, community afforestation campaign with 

indigenous species was made enormously successful.  

Options :  

(A) Both (A) and (R) are true, but (R) is not the correct explanation of 

(A). 

(B) Both (A) and (R) are true and (R) is the correct explanation of (A). 

(C) (A) is true, but (R) is false.  

(D) (A) is false, but (R) is true.  

7. Who among the following said – ‘‘Printing is the ultimate gift of God and 

the greatest one.’’ ?  1 

(A) Martin Luther  

(B) Mahatma Gandhi  

(C) Johannes Gutenberg  

(D) Rashsundari Devi  

8. Choose the correct option, related to the founders of the ‘Swaraj Party’ 

within the Congress.  1 

(A) Subhas Chandra Bose and Jawaharlal Nehru  

(B) Acharya Kripalani and Jayaprakash Narayan  

(C) C.R. Das and Motilal Nehru  

(D) Mahatma Gandhi and Sardar Patel  

9. Choose the correct option to fill in the blank.  1 

___________ from India and Southeast Asia travelled through ‘Silk Route’ 

to other parts of the world.  

(A) Gold and silver ornaments  

(B) Clothes and spices  

(C) Grain and pulses  

(D) Iron and other metals  
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10. {ZåZ{b{IV KQ>ZmAm| H$mo H$mbH«$_mZwgma ì`dpñWV H$s{OE Am¡a ghr {dH$ën H$m M`Z 
H$s{OE &  1 

I. \«$m§g H$s H«$m§{V 

II. Zonmo{b`Z H$m BQ>br na h_bm  

III. BQ>br H$m EH$sH$aU  

IV. {d`Zm em§{V g§{Y  

{dH$ën : 

(A) I, II, IV, III  (B) II, IV, I, III  

(C) II, III, I, IV  (D) I, III, II, IV  

 

11. ZrMo Xmo H$WZ {XE JE h¢ & `o A{^H$WZ (A) Am¡a H$maU (R) h¢ & XmoZm| H$WZm| H$mo n{‹T>E 
Am¡a ghr {dH$ën H$m M`Z H$s{OE & 1 

 A{^H$WZ (A) : ~¢H$ Hw$N> H$µO©Xmam| H$mo H$µO© XoZo Ho$ {bE V¡̀ ma Zht hmoVo h¢ &  

H$maU (R) : Hw$N> bmoJm| Ho$ nmg G$UmYma Zht hmoVm h¡ &  

{dH$ën : 

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì¶m»¶m h¡ & 

(B) (A) Am¡a (R) XmoZm| ghr h¢, bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht  h¡ & 

(C) (A) ghr h¡, bo{H$Z (R) µJbV h¡ &  

(D) (A) µJbV h¡, bo{H$Z (R) ghr h¡ &  

12. g§̀ wº$ amîQ́> {dH$mg H$m ©̀H«$_ ( ỳ.EZ.S>r.nr.) {ZåZ{b{IV _| go {H$g AmYma na ‘_mZd 
{dH$mg [anmoQ>©’ àH$m{eV H$aVm h¡ ?  1 

(A) {d{Z_m©U, Adg§aMZm Am¡a ñdmñÏ` 

(B) {ejm, ñdmñÏ` Am¡a à{V ì`{º$ Am`  

(C) amîQ>́r` Am`, ñdmñÏ` Am¡a ~¢qH$J 

(D) gH$b Kaoby CËnmX, àm¡Úmo{JH$s Am¡a ZdmMma  
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10. Arrange the following incidents in chronological order and choose the 

correct option. 1 

I. French Revolution 

II. Napoleon’s invasion of Italy 

III. Unification of Italy 

IV. Vienna Peace Treaty 

Options : 

(A) I, II, IV, III (B) II, IV, I, III 

(C) II, III, I, IV (D) I, III, II, IV 

 

11. Two statements are given below. They are Assertion (A) and Reason (R). 

Read both the statements and choose the correct option. 1 

 Assertion (A)  : Banks are not ready to lend money to certain borrowers.  

Reason (R)  : Some people do not have collateral. 

Options : 

(A) Both (A) and (R) are true and (R) is the correct explanation  

of (A).  

(B) Both (A) and (R) are true, but (R) is not the correct explanation of 

(A).  

(C) (A) is true, but (R) is false. 

(D) (A) is false, but (R) is true. 

 

12. On which of the following basis does the United Nations Development 

Programme (UNDP) publish the ‘Human Development Report’ ?  1 

(A) Manufacturing, Infrastructure and Health   

(B) Education, Health and Per Capita Income 

(C) National Income, Health and Banking  

(D) Gross Domestic Product, Technology and Innovation 
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13. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ‘d¡ídrH$aU’ Ho$ Ame` H$m ghr dU©Z H$aVm h¡ ? 1 

(A) ì`mnma na H$a g§~§Yr AdamoYm| H$mo hQ>mZm   
(B) Cƒ OrdZ ñVa H$mo àXmZ H$aZm   
(C) Xoem| Ho$ ~rM Vrd« J{V go EH$sH$aU H$aZm    
(D) {dXoer H§$n{Z`m| H$mo AmH${f©V H$aZo Ho$ {bE {deof H$X_ CR>mZm   

 

14. ZrMo Xmo H$WZ {XE JE h¢ & `o A{^H$WZ (A) Am¡a H$maU (R) h¢ & XmoZm| H$WZm| H$mo n{‹T>E 
Am¡a ghr {dH$ën H$m M`Z H$s{OE & 1 

 A{^H$WZ (A) : ^maV _| H$moB© ^r ì`{º$ H$mZyZr Vm¡a na én ò _| AXm`Jr H$mo AñdrH$ma 
Zht H$a gH$Vm h¡ &  

H$maU (R)  :  ̂ maV _| én`o H$mo amÁ` gaH$ma| àm{YH¥$V H$aVr h¢ &  

{dH$ën : 

(A) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì¶m»¶m h¡ & 

(B) (A) Am¡a (R) XmoZm| ghr h¢, bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht  h¡ & 

(C) (A) ghr h¡, bo{H$Z (R) µJbV h¡ &  

(D) (A) µJbV h¡, bo{H$Z (R) ghr h¡ &  

 

15. G$U Ho$ g§~§Y _| {ZåZ{b{IV n[apñW{V H$mo n{‹T>E Am¡a G$U Ho$ gH$mamË_H$ à^md H$s 
nhMmZ H$s{OE &  1 

 gbr_ CËnmXZ Ho$ {bE H$m`©erb ny±Or H$s µOê$aV H$mo G$U Ho$ Ûmam nyam H$aVm h¡ & G$U Cgo 
CËnmXZ Ho$ H$m`©erb IMm] VWm CËnmXZ H$mo g_` na nyam H$aZo _| _XX H$aVm h¡ &  

à^md :  

(A) gbr_ na G$U H$m ^ma ~‹T> OmEJm &  

(B) gbr_ H$s H$_mB© ~‹T> OmEJr &  

(C) CËnmXZ _| H$_r AmEJr &  

(D) gbr_ G$U Ho$ XþîMH«$ _| \±$g gH$Vm h¡ &  
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13. Which one of the following statements best describes the meaning of 

‘Globalization’ ?  1 

(A) Removal of tax barriers on trade    

(B) Providing higher standard of living   

(C) Process of rapid integration between countries   

(D) Taking special steps to attract foreign companies  

14. Two statements are given below. They are Assertion (A) and Reason (R). 

Read both the statements and choose the correct option. 1 

 Assertion (A)  : No individual in India can legally refuse a payment 
made in rupees.  

Reason (R)  : In India the rupee is authorized by the State 
Governments.  

Options : 

(A) Both (A) and (R) are true and (R) is the correct explanation  

of (A).  

(B) Both (A) and (R) are true, but (R) is not the correct explanation of 

(A).  

(C) (A) is true, but (R) is false. 

(D) (A) is false, but (R) is true. 

15. Read the following situation regarding credit and identify the positive 

impact of credit.  1 

Salim obtains credit to meet the working capital needs of production. The 

credit helps him to meet the ongoing expenses and complete production 

on time. 

Impacts :  

(A) The burden of credit will increase on Salim. 

(B) Salim’s income will increase.  

(C) The production will decrease.  

(D) Salim may get stuck in a debt trap.  
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16. {ZåZ{b{IV {MÌ H$m AÜ``Z H$s{OE & {MÌ _| hmoZo dmbm H$m ©̀ AW©ì`dñWm Ho$ 
{ZåZ{b{IV _| go {H$g joÌH$ Ho$ A§VJ©V AmVm h¡ ?  1 

 
(A) àmW{_H$  

(B) {ÛVr`H$  

(C) V¥Vr`H$  

(D) MVwW©H$  

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{îQ>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 16 Ho$ ñWmZ na  

h¡ & 

 {ZåZ{b{IV _| go {H$g joÌH$ H$s {hñgoXmar ^maV Ho$ gH$b Kaoby CËnmX (Or.S>r.nr.) _| 
gdm©{YH$ h¡ ?  1 

(A) àmW{_H$  

(B) {ÛVr`H$  

(C) V¥Vr`H$  

(D) MVwW©H$  
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16. Study the following picture. The work done in the picture comes under 

which one of the following sectors of the economy ?  1 

 
(A) Primary  

(B) Secondary  

(C) Tertiary  

(D) Quaternary  

 

 

Note :  The following question is for the Visually Impaired Candidates only, 

in lieu of Q. No. 16. 

 Which one of the following sectors has the maximum share in the Gross 

Domestic Product (GDP) of India ?   1 

(A) Primary  

(B) Secondary  

(C) Tertiary  

(D) Quaternary  
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17. bmoH$V§Ì H$s {ZåZ{b{IV {deofVmAm| H$mo n{‹T>E Am¡a ghr {dH$ën H$m M`Z H$s{OE &  1 

I. ñdV§Ì Ed§ {Zînj MwZmd  
II. H$mZyZ Ho$ g_j g_mZVm  

III. ì`{º$ H$s J[a_m  

IV. ~hþg§»`H$m| H$m emgZ  
{dH$ën : 

(A) Ho$db I, II d III ghr h¢ &  

(B) Ho$db II, III d IV ghr h¢ & 

(C) Ho$db I, III d IV ghr h¢ & 

(D) Ho$db I, II d IV ghr h¢ & 

18. {ZåZ{b{IV _| go {H$g joÌ _| _{hbmAm| H$m AnZr amîQ>́r` g§gXm| (2018) _| à{V{Z{YËd 
g~go A{YH$ Wm ?  1 

(A) Zm°{S>©H$ Xoe  
(B) A_o[aH$m (CÎmar d X{jUr)  

(C) `yamon  

(D) E{e`m  
19. {ZåZ{b{IV Xoem| _| go {H$g_| {ÛXbr` ì`dñWm h¡ ?  1 

(A) MrZ   (B) nm{H$ñVmZ  
(C) g§̀ wº$ amÁ` A_o[aH$m  (D) \«$m§g  

20. ZrMo Xmo H$WZ {XE JE h¢ & ò A{^H$WZ (A) Am¡a H$maU (R) h¢ & XmoZm| H$WZm| H$mo n{‹T>E 
Am¡a ghr {dH$ën H$m M`Z H$s{OE & 1 

 A{^H$WZ (A)  : AmYw{ZH$ bmoH$V§Ì amOZr{VH$ Xbm| Ho$ {~Zm Zht Mb gH$Vm h¡ &  

 H$maU (R)  : {Zdm©{MV à{V{Z{Y Ho$db AnZo-AnZo {Zdm©MZ-joÌm| Ho$ à{V Odm~Xoh 

hm|Jo, Xoe Ho$ à{V Zht &   

{dH$ën : 

(A) (A) ghr h¡, bo{H$Z (R) µJbV h¡ & 

(B) (A) µJbV h¡, bo{H$Z (R) ghr h¡ & 

(C) (A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì¶m»¶m h¡ & 

(D) (A) Am¡a (R) XmoZm| ghr h¢, bo{H$Z (R), (A) H$s ghr ì¶m»¶m Zht  h¡ & 
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17. Read the following characteristics of democracy and choose the correct 

option.  1 

I. Free and fair elections  

II. Equality before law  

III. Dignity of a person  

IV. Majority rule 

Options :  

(A) Only I, II and III are correct.  

(B) Only II, III and IV are correct. 

(C) Only I, III and IV are correct. 

(D) Only I, II and IV are correct. 

18. In which of the following regions was women representation the highest 

in their respective National Parliaments (2018) ?  1 

(A) Nordic countries  

(B) America (North and South)  

(C) Europe  

(D) Asia 

19. Which one of the following countries has a two-party system ?  1 

(A) China  (B) Pakistan  

(C) United States of America  (D) France  

20. Two statements are given below. They are Assertion (A) and Reason (R). 
Read both the statements and choose the correct option. 1 

 Assertion (A)  : Modern democracy cannot function without political 
parties.   

Reason (R)  : Elected representatives will be accountable only to their 
constituencies, not towards the country. 

Options : 

(A) (A) is true, but (R) is false. 

(B) (A) is false, but (R) is true. 

(C) Both (A) and (R) are true and (R) is the correct explanation  
of (A). 

(D) Both (A) and (R) are true, but (R) is not the correct explanation of 
(A). 
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IÊS> I  
                 (A{V bKw-CÎmar` àíZ) (4%2=8) 

21. (a) ^maV H$s g§KmË_H$ ì`dñWm _| g§{dYmZ H$s ŷ{_H$m H$m narjU Xmo q~XþAm| _| 
H$s{OE & 2%1=2  

 AWdm 

(b) ^maV H$s g§KmË_H$ ì`dñWm _| gdm}ÀM Ý`m`mb` H$s ŷ{_H$m H$m narjU Xmo q~XþAm| 
_| H$s{OE & 2%1=2  

22. ‘‘^maV _| gm¡a D$Om© Ho$ XmohZ H$s Agr_ g§^mdZmE± h¢ &’’ CXmhaU g{hV Bg H$WZ H$s 
ì`m»`m H$s{OE & 2 

23. ‘‘CÞrgdt gXr VH$ ỳamon _| µJar~r Am¡a ^yI H$m hr gm_«mÁ` Wm &’’ Bg H$WZ H$m {díbofU 

H$s{OE & 2 

24. ‘‘{dXoe ì`mnma {d{^Þ Xoem| Ho$ ~mµOmam| H$mo Omo‹S>Zo _| ghm`H$ hmoVm h¡ &’’ d¡ídrH$aU Ho$ g§X ©̂ 
_| Bg H$WZ H$s nwpîQ> H$s{OE & 2 

IÊS> J  

                     (bKw-CÎmar` àíZ) (5%3=15) 

25. Xoe Ho$ {dH$mg Ho$ {df` _| {d{^Þ bmoJm| H$s YmaUmE± {^Þ Š`m| hmo gH$Vr h¢ ? CXmhaUm| 

g{hV ì`m»`m H$s{OE & 3 

26. dm{UpÁ`H$ H¥${f H$s {H$Ýht VrZ {deofVmAm| H$m dU©Z H$s{OE & 3%1=3 

27. amOZr{VH$ Xbm| Ho$ _w»` H$m`m] H$s ì`m»`m H$s{OE &  3 

28. ‘‘Ho$ÝÐ Am¡a amÁ` gaH$mam| Ho$ ~rM gÎmm H$m ~±Q>dmam h_mao g§{dYmZ H$s ~w{Z`mXr ~mV h¡ &’’ 
Bg H$WZ H$s nwpîQ> H$s{OE & 3 

29. (a) amîQ>́r` Am§XmobZ _| {d{^Þ g_wXm`m|, joÌm| `m ^mfmAm| go g§~Õ AbJ-AbJ g_yhm| 
Zo gm_y{hH$ AnZonZ H$m ^md H¡$go {dH${gV {H$`m ? CXmhaUm| g{hV ñnîQ> H$s{OE & 3 

 AWdm 

(b) ‘‘_hmË_m Jm±Yr Ho$ {dMmam| Am¡a ‘ñdamO’ H$s AdYmaUm Ho$ ~mao _| _µOXÿam| H$s AnZr 

g_P Wr &’’ CXmhaUm| g{hV Bg H$WZ H$s ì`m»`m H$s{OE & 3 
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SECTION B 

 (Very Short Answer Type Questions) (4´2=8) 

21. (a) Examine the role of the Constitution in the Federal System of 

India in two points.  2%1=2 

 OR 

(b) Examine the role of the Supreme Court in the Federal System of 

India in two points.  2%1=2 

22. ‘‘India has enormous possibilities of tapping solar energy.’’ Explain the 

statement with example.  2 

23. ‘‘Until the nineteenth century, poverty and hunger were common in 

Europe.’’ Analyse the statement. 2  

24. ‘‘Foreign trade results in connecting the markets in different countries.’’ 

Support the statement in context of globalisation.  2  

SECTION C 

 (Short Answer Type Questions) (5´3=15) 

25. Why could different persons have different notions of a country’s 

development ? Explain with examples.  3 

26. Describe any three features of commercial farming.  3%1=3 

27. Explain the main functions of political parties.  3 

28. ‘‘Sharing of power between the Union Government and State 

Governments is basic to the structure of our Constitution.’’ Support the 

statement.  3 

29. (a) How did people belonging to different communities, regions or 

language groups develop a sense of collective belonging in the 

National Movement ? Explain with examples.   3 

 OR 

(b) ‘‘Workers had their own understanding of Mahatma Gandhi and 

the notion of ‘Swaraj’.’’ Explain the statement with examples.  3 
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IÊS> K  
                     (XrK©-CÎmar` àíZ) (4%5=20) 

30. (a) ‘‘Ag§J{R>V joÌH$ _| l{_H$m| H$mo g§ajU Am¡a ghm`Vm H$s Amdí`H$Vm h¡ &’’ 

CXmhaUm| g{hV Bg H$WZ H$s naI H$s{OE & 5 

 AWdm 

(b) ‘‘{ZOr joÌH$ H$s J{V{d{Y`m| H$m Ü ò` bm^ A{O©V H$aZm hmoVm h¡ &’’ CXmhaUm| g{hV 

Bg H$WZ H$s naI H$s{OE & 5  

31. (a) CÚmoJ {H$g àH$ma Ob àXÿfU Ho$ _w»` òmoV h¢ ? Ob g§ajU Ho$ {H$Ýht Xmo gwPmdm| 
H$m C„oI H$s{OE &  3+2=5 

 AWdm 

(b) CÚmoJ {H$g àH$ma dm`w àXÿfU Ho$ à_wI H$maH$ h¢ ? dm`w àXÿfU H$s g_ñ`m Ho$ 
g_mYmZ Ho$ {bE {H$Ýht Xmo gwPmdm| H$m C„oI H$s{OE &  3+2=5 

32. (a) bmoJ AÝ` {H$gr ^r d¡H$pënH$ emgZ ì`dñWm H$s VwbZm _| bmoH$V§Ì H$mo Š`m| ng§X 
H$aVo h¢ ? C{MV VH$m] g{hV ñnîQ> H$s{OE &  5 

 AWdm 

(b) bmoH$V§Ì {H$g àH$ma EH$ CÎmaXm`r Ed§ H$m ©̀Hw$eb emgZ ì`dñWm h¡ ? C{MV VH$m] 
g{hV ñnîQ> H$s{OE &  5 

 

33. (a) ‘‘\«$m§grgr H«$m§{V Zo \«$m§grgr bmoJm| _| EH$ gm_y{hH$ nhMmZ H$s ^mdZm n¡Xm H$s &’’ 

Cn ẁº$ VH$m] g{hV Bg H$WZ H$s ì`m»`m H$s{OE &  5 

 AWdm 

(b) ‘‘`yZmZ Ho$ ñdV§ÌVm g§J«m_ Zo nyao `yamon _| {e{jV A{^OmV dJ© _| amîQ́>r` ^mdZmAm| 

H$m g§Mma {H$`m &’’ Cn ẁº$ VH$m] g{hV Bg H$WZ H$s ì`m»`m H$s{OE & 5 
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SECTION D 

 (Long Answer Type Questions) (4´5=20) 

 

30. (a) ‘‘There is a need for protection and support of the workers in the 

unorganised sector.’’ Examine the statement with examples.   5 

 OR 

(b) ‘‘Activities in the private sector are guided by the motive to earn 

profits.’’ Examine the statement with examples.  5 

31. (a) How are industries the main source of water pollution ? Mention 

any two suggestions for the conservation of water.  3+2=5 

 OR 

(b) How are industries the main factor for air pollution ? Mention any 

two suggestions to overcome the problem of air pollution.  3+2=5 

32. (a) Why do people prefer democracy over other alternatives ? Explain 

with suitable arguments.   5 

 OR 

(b) How is democracy an accountable and efficient system of 

government ? Explain with suitable arguments.  5 

33. (a) ‘‘The French Revolution created a sense of collective identity 

amongst the French people.’’ Explain the statement with suitable 

arguments.   5 

 OR 

(b) ‘‘The Greek war of independence mobilised nationalist feelings 

among the educated elite across Europe.’’ Explain the statement 

with suitable arguments. 5 
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IÊS> L>  

            (Ho$g-AmYm[aV/òmoV-AmYm[aV àíZ) (3%4=12) 

34. {XE JE òmoV H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma Xr{OE :   

  1857 Ho$ {dÐmoh Ho$ ~mX àog H$s ñdV§ÌVm Ho$ à{V ad¡`m ~Xb J`m & H«w$Õ A§J«oµOm| Zo 
‘Xogr’ àog H$m _w±h ~§X H$aZo H$s _m±J H$s & Á`m|-Á`m| ^mfmB© g_mMma-nÌ amîQ́>dmX go g_W©Z 
_| _wIa hmoVo JE, Ë`m|-Ë`m| Am¡n{Zdo{eH$ gaH$ma _| H$‹S>o {Z §̀ÌU Ho$ àñVmd na ~hg VoµO 
hmoZo bJr & AmB[ae àog H$mZyZ Ho$ VµO© na 1878 _| dZm ©Š`yba àog EoŠQ> bmJy H$a {X`m  
J`m & Bggo gaH$ma H$mo ^mfmB© àog _| N>nr anQ> Am¡a g§nmXH$s` H$mo g|ga H$aZo H$m ì`mnH$ 
hµH$ {_b J`m & A~ go gaH$ma Zo {d{^Þ àXoem| go N>nZo dmbo ^mfmB© A˜~mam| na {Z`{_V 
ZµOa aIZr ewê$ H$a Xr & AJa {H$gr anQ> H$mo ~mµJr H$ama {X`m OmVm Wm Vmo A˜~ma H$mo 
nhbo MoVmdZr Xr OmVr Wr, Am¡a AJa MoVmdZr H$s AZgwZr hþB© Vmo A˜~ma H$mo µOãV {H$`m 
Om gH$Vm Wm Am¡a N>nmB© H$s _erZ| N>rZ br Om gH$Vr Wt & 
(34.1) ‘dZm©Š ỳba àog EoŠQ>’ {H$g {Z`_ na AmYm[aV Wm ? 1  
(34.2) 1857 Ho$ {dÐmoh Ho$ ~mX àog H$s ñdV§ÌVm Ho$ à{V A§J«oµOm| H$m ad¡̀ m Š`m| ~Xb   

J`m ? ñnîQ> H$s{OE & 1 

(34.3) ‘dZm©Š ỳba àog EoŠQ>’ bmJy hmoZo Ho$ {H$Ýht Xmo à^mdm| H$s ì`m»`m H$s{OE & 2%1=2 

35. {XE JE òmoV H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma Xr{OE : 

ghH$mar g{_{V`m| go G$U 

  ~¢H$m| Ho$ Abmdm J«m_rU joÌm| _| gñVo G$U H$m EH$ AÝ` òmoV ghH$mar g{_{V`m± h¢ & 
ghH$mar g{_{V Ho$ gXñ` AnZo g§gmYZm| H$mo Hw$N> joÌm| _| gh`moJ Ho$ {bE EH$Ì H$aVo h¢ & 
H$B© àH$ma H$s ghH$mar g{_{V`m± g§̂ d h¢, O¡go – {H$gmZm|, ~wZH$am| Ed§ Am¡Úmo{JH$ _µOXÿam| 
BË`m{X H$s ghH$mar g{_{V`m± & H¥$fH$ ghH$mar g{_{V gmoZnwa Ho$ ZµOXrH$ EH$ Jm±d _| H$m_ 
H$aVr h¡ & BgHo$ 2300 {H$gmZ gXñ` h¢ & `h AnZo gXñ`m| go O_m àmßV H$aVr  
h¢ & Bg O_m ny ±Or H$mo G$UmYma _mZVo hþE, Bg ghH$mar g{_{V Zo ~¢H$ go ~‹S>m G$U àmßV 
{H$`m h¡ & Bg ny±Or H$m BñVo_mb gXñ`m| H$mo H$µO© XoZo Ho$ {bE {H$`m OmVm h¡ & `h G$U 
bm¡Q>mZo Ho$ ~mX H$µO© H$m Xÿgam Xm¡a ewê$ {H$`m Om gH$Vm h¡ &  

  H¥$fH$ ghH$mar g{_{V H¥${f CnH$aU IarXZo, IoVr VWm H¥${f ì`mnma H$aZo, _N>br 
nH$‹S>Zo, Ka ~ZmZo Am¡a AÝ` {d{^Þ àH$ma Ho$ ˜Mm] Ho$ {bE G$U _wh¡`m H$amVr h¡ &  

(35.1) ‘ghH$mar g{_{V’ ‘G$U’ Ho$ {H$g òmoV H$m CXmhaU h¡ ?  1  

(35.2) J«m_rU {dH$mg _| ghH$mar g{_{V`m| Ho$ `moJXmZ H$s ì`m»`m H$s{OE &  1 

(35.3) ñd §̀-ghm`Vm g_yhm| H$s ny±Or Ho$ {H$Ýht Xmo òmoVm| H$m C„oI H$s{OE &  2%1=2 
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SECTION E 

  (Case-Based/Source-Based Questions) (3´4=12) 

34. Read the given source and answer the questions that follow : 

  After the Revolt of 1857, the attitude to freedom of the press changed. 

Enraged Englishmen demanded a clamp down on the ‘native’ press. As 
vernacular newspapers became assertively nationalist, the colonial 
government began debating measures of stringent control. In 1878, the 

Vernacular Press Act was passed, modelled on the Irish Press Laws. It 
provided the government with extensive rights to censor reports and 

editorials in the vernacular press. From now on the government kept 

regular track of the vernacular newspapers published in different 
provinces. When a report was judged as seditious, the newspaper was 
warned, and if the warning was ignored, the press was liable to be seized 

and the printing machinery confiscated.  

(34.1) On which rule was the ‘Vernacular Press Act’ based ?   1 

(34.2) Why did the attitude of the British change towards the freedom of 

press after the Revolt of 1857 ? Explain.  1 

(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.’  2%1=2 

35. Read the given source and answer the questions that follow : 

Loans from Cooperatives 

  Besides banks, the other major source of cheap credit in rural areas 
are the cooperative societies (or cooperatives). Members of a cooperative 

pool their resources for cooperation in certain areas. There are several 
types of cooperatives possible such as farmers cooperatives, weavers 

cooperatives and industrial workers cooperatives, etc. Krishak 
Cooperative functions in a village not very far away from Sonpur. It has 

2300 farmers as members. It accepts deposits from its members. With 
these deposits as collateral, the Cooperative has obtained a large loan 

from the bank. These funds are used to provide loans to members. Once 
these loans are repaid, another round of lending can take place.  

  Krishak Cooperative provides loans for the purchase of agricultural 

implements, loans for cultivation and agricultural trade, fishery loans, 
loans for construction of houses and for a variety of other expenses.  
(35.1) ‘Cooperative society’ is an example of which source of ‘credit’ ?  1 

(35.2) Explain the contribution of Cooperative Societies in rural 

development.   1 
(35.3) Mention any two sources of capital for Self-Help Groups.  2%1=2 
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36. {XE JE òmoV H$mo n{‹T>E Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ CÎma Xr{OE :  

  g§gmYZm| H$m g§ajU : g§gmYZ {H$gr ^r Vah Ho$ {dH$mg _| _hÎdnyU© ŷ{_H$m {Z^mVo  
h¢ & na§Vw g§gmYZm| H$m {ddoH$hrZ Cn^moJ Am¡a A{V-Cn`moJ Ho$ H$maU H$B© gm_m{OH$-Am{W©H$ 
Am¡a n`m©daUr` g_ñ`mE± n¡Xm hmo gH$Vr h¢ & BZ g_ñ`mAm| go ~Mmd Ho$ {bE {d{^Þ ñVam| 
na g§gmYZm| H$m g§ajU Amdí`H$ h¡ & ŷVH$mb go hr g§gmYZm| H$m g§ajU ~hþV go ZoVmAm| 
Am¡a qMVH$m| Ho$ {bE qMVm H$m {df` ahm h¡ & CXmhaUmW©, Jm±YrOr Zo g§gmYZm| Ho$ g§ajU 
na AnZr qMVm BZ eãXm| _| ì`º$ H$s h¡ – ‘‘h_mao nmg ha ì`{º$ H$s Amdí`H$Vm ny{V© Ho$ 
{bE ~hþV Hw$N> h¡, bo{H$Z {H$gr Ho$ bmbM H$s g§VwpîQ> Ho$ {bE Zht & AWm©V² h_mao nmg noQ> 
^aZo Ho$ {bE ~hþV h¡, bo{H$Z noQ>r ^aZo Ho$ {bE Zht &’’ CZHo$ AZwgma {díd ñVa na 
g§gmYZ õmg Ho$ {bE bmbMr Am¡a ñdmWu ì`{º$ VWm AmYw{ZH$ àm¡Úmo{JH$s H$s emofUmË_H$ 
àd¥{Îm {Oå_oXma h¡ & do AË`{YH$ CËnmXZ Ho$ {déÕ Wo Am¡a BgHo$ ñWmZ na A{YH$ ~‹S>o 
OZg_wXm` Ûmam CËnmXZ Ho$ njYa Wo & 

(36.1) ‘g§gmYZ {Z`moOZ’ H$mo n[a^m{fV H$s{OE & 1  
(36.2) g§gmYZm| Ho$ g§ajU H$s Amdí`H$Vm H$mo ñnîQ> H$s{OE & 1 

(36.3) Jm±YrOr Zo Š`m| H$hm {H$ – ‘h_mao nmg ha ì`{º$ H$s Amdí`H$Vm ny{V© Ho$ {bE ~hþV 
Hw$N> h¡, bo{H$Z {H$gr Ho$ bmbM H$s g§Vw{îQ> Ho$ {bE Zht’ ? {H$Ýht Xmo H$maUm| H$m 
{díbofU H$s{OE & 2%1=2 

IÊS> M  

                 (_mZ{MÌ H$m¡eb-AmYm[aV àíZ) (2+3=5) 

37. (a) ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 27 na), _| Xmo ñWmZm| H$mo ‘A’ Am¡a 
‘B’ Ho$ ê$n _| A§{H$V {H$`m J`m h¡ & {ZåZ{b{IV OmZH$mar H$s ghm`Vm go CÝh| 
nhMm{ZE Am¡a CZHo$ ghr Zm_ CZHo$ g_rn ItMr JB© aoImAm| na {b{IE :  

  A. dh ñWmZ Ohm± Jm±YrOr Zo Zrb H$s IoVr H$aZo dmbo {H$gmZm| Ho$ {bE 
gË`mJ«h {H$`m Wm &   1 

B. dh ñWmZ Ohm± Jm±YrOr Zo Z_H$ H$mZyZ Vmo‹S>m Wm &   1 

(b) ^maV Ho$ Bgr amOZr{VH$ aoIm-_mZ{MÌ _|, {ZåZ{b{IV _| go {H$Ýht VrZ  H$mo 
Cn ẁº$ {M•m| g o Xem©BE Am¡a CZHo$ Zm_ {b{IE :  3%1=3 

  (i) ZhaH${Q>`m – Vob joÌ  
  (ii) VbMa – à_wI H$mò bm ImZ|  
  (iii) Zamoam – na_mUw D$Om© g§̀ §Ì  
  (iv) VyVrH$mo[aZ – à_wI g_wÐr nÎmZ 
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36. Read the given source and answer the questions that follow : 

  Conservation of Resources : Resources are vital for any developmental 
activity. But irrational consumption and over-utilisation of resources may 

lead to socio-economic and environmental problems. To overcome these 
problems, resource conservation at various levels is important. This had 

been the main concern of the leaders and thinkers in the past. For 
example, Gandhiji was very apt in voicing his concern about resource 
conservation in these words: ‘‘There is enough for everybody’s need and 

not for any body’s greed.’’ He placed the greedy and selfish individuals 
and exploitative nature of modern technology as the root cause for 

resource depletion at the global level. He was against mass production 
and wanted to replace it with the production by the masses.  

(36.1) Define the term ‘Resource Planning’.  1 

(36.2) Explain the need for conservation of resources.  1 

(36.3) Why did Gandhiji say – ‘‘There is enough for everybody’s need and 

not for any body’s greed ?’’ Analyse any two reasons.  2%1=2 

SECTION F 

 (Map Skill-Based Questions) (2+3=5) 

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political 

outline map of India (on page 27). Identify them with the help of 

the following information and write their correct names on the 

lines drawn near them :  

A. The place where Gandhiji started Satyagraha for indigo 

peasants.  1 

B. The place where Gandhiji broke the Salt Law.  1 

(b) On the same political outline map of India, locate and label any 

three of the following with suitable symbols : 3´1=3 

(i) Naharkatiya  – Oil field  

(ii) Talcher – Major Coal Mines  

(iii) Narora – Atomic Power Plant 

(iv) Tuticorin – Major Sea Port 
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ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{îQ>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 37 Ho$ ñWmZ na  

h¢ &  

 {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & 5´ 1=5 

(37.1) Cg ñWmZ H$m Zm_ {b{IE Ohm± Jm±YrOr Zo Zrb H$s IoVr H$aZo dmbo {H$gmZm| Ho$ 
{bE ‘gË`mJ«h’ {H$`m Wm &  

(37.2) Cg ñWmZ H$m Zm_ {b{IE Ohm± Jm±YrOr Zo Z_H$ H$mZyZ Vmo‹S>m Wm &  

(37.3) ZhaH${Q>`m Vob joÌ {H$g amÁ` _| pñWV h¡ ?  

(37.4) Cg amÁ` H$m Zm_ {b{IE Ohm± VbMa à_wI H$mò bo H$s ImZ| pñWV h¢ &  

(37.5) Cg amÁ` H$m Zm_ {b{IE Ohm± Zamoam Zm{^H$s` D$Om© g§̀ §Ì pñWV h¡ &  

(37.6) VyVrH$mo[aZ g_wÐr nÎmZ {H$g amÁ` _| pñWV h¡ ?  
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Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 37.  

 Attempt any five questions. 5´1=5 

(37.1) Name the place where Gandhiji started ‘Satyagraha’ for indigo 

peasants.  

(37.2) Name the place where Gandhiji broke the Salt Law.  

(37.3) In which state is Naharkatia oil field located ?  

(37.4) Name the state where Talcher major coal mines are located.  

(37.5) Name the state where Narora Nuclear Power Plant is located.  

(37.6) In which state is Tuticorin sea port located ?  
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àíZ g§. 37 Ho$ {bE  For question no. 37 

 

^maV H$m amOZr{VH$ aoIm-_mZ{MÌ 
Political Outline Map of India 

 

A 

B 
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 Marking Scheme 
Strictly Confidential 

(For Internal and Restricted use only) 
Secondary School  Examination March - 2024 

SUBJECT NAME: SOCIAL SCIENCE         SUBJECT CODE 087        PAPER CODE-32/4/2 
 General Instructions: - 

 
1.  You are aware that evaluation is the most important process in the actual and correct assessment of 

the candidates. A small mistake in evaluation may lead to serious problems which may affect the 
future of the candidates, education system and teaching profession. To avoid mistakes, it is requested 
that before starting evaluation, you must read and understand the spot evaluation guidelines carefully. 

2.  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in 
any manner could lead to derailment of the examination system and affect the life and future of 
millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and 
printing in News Paper/Website etc may invite action under various rules of the Board and 
IPC.” 

3.  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done 
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly 
adhered to and religiously followed. However, while evaluating, answers which are based on latest 
information or knowledge and/or are innovative, they may be assessed for their correctness 
otherwise and due marks be awarded to them. In class-X, while evaluating two competency-
based questions, please try to understand given answer and even if reply is not from marking 
scheme but correct competency is enumerated by the candidate, due marks should be awarded.  

4.  The Marking scheme carries only suggested value points for the answers.These are in the nature of 
Guidelines only and do not constitute the complete answer. The students can have their own 
expression and if the expression is correct, the due marks should be awarded accordingly. 

5.  The Head-Examiner must go through the first five answer books evaluated by each evaluator on the 
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking 
Scheme. If there is any variation, the same should be zero after delibration and discussion. The 
remaining answer books meant for evaluation shall be given only after ensuring that there is no 
significant variation in the marking of individual evaluators. 

6.  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. 
Evaluators will not put right (✓)while evaluating which gives an impression that answer is correct and 
no marks are awarded. This is most common mistake which evaluators are committing. 

7.  If a question has parts, please award marks on the right-hand side for each part. Marks awarded for 
different parts of the question should then be totaled up and written in the left-hand margin and 
encircled. This may be followed strictly. 

8.  If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. 
This may also be followed strictly. 

9.  If a student has attempted an extra question, answer of the question deserving more marks should be 
retained and the other answer scored out with a note “Extra Question”. 

10.  No marks to be deducted for the cumulative effect of an error. It should be penalized only once. 
11.  A full scale of marks _____80_____(example 0 to 80/70/60/50/40/30 marks as given in Question 

Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it. 
12.  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day 

and evaluate 20 answer books per day in main subjects and 25 answer books per day in other subjects 
(Details are given in Spot Guidelines). 

13.  Ensure that you do not make the following common types of errors committed by the Examiner in the 
past:- Giving more marks for an answer than assigned to it. 
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● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
Wrong question wise totaling on the title page.  
● Leaving answer or part thereof unassessed in an answer book. 
●  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly 

and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.) 
● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14.  While evaluating the answer books if the answer is found to be totally incorrect, it should be marked 
as cross (X) and awarded zero (0)Marks. 

15.  Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the 
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the 
Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the instructions 
be followed meticulously and judiciously. 

16.  The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot 
Evaluation” before starting the actual evaluation. 

17.  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title 
page, correctly totaled and written in figures and words. 

18.  The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the 
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again 
reminded that they must ensure that evaluation is carried out strictly as per value points for each 
answer as given in the Marking Scheme. 
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Marking Scheme 
Class X -Social Science (087)  

SET-32/4/2 
SET -2                                                                                                   MM-80 

 
Q. 

No. 

Values Points Page 

No. 

Marks 

 Section A 
Multiple Choice Question 

 (20X1= 

20) 

1 (D) Panchayat 24 P 1 

2 (C) Concurrent List 16-17 P 1 

3 (C) Only I, III and IV are correct 8-9 P 1 

4 (B) Madhya Pradesh, Maharashtra, Odisha, Karnataka 53 G 1 

5 (D) i-c, ii-d, iii-a, iv-b 24 G 1 

6 (B) Both (A) and (R) are true and (R) is the correct explanation of (A) 16 G 1 

7 (A) Martin Luther 112 H 1 

8 (C) C. R. Das and Motilal Nehru 38 H 1 

9 (B) Clothes and spices 54 H 1 

10 (A) I, II, IV, III 8 H 1 

11 (A) Both (A) and (R) are true and (R) is the correct explanation of (A) 42 E 1 

12 (B) Education, Health and Per Capita Income 13 E 1 

13 (C) Process of rapid integration between countries 62 E 1 

14 (C) (A) is true but (R) is false 40 E 1 

15 (B) Salim’s income will increase 42-44 E 1 

16 (C) Tertiary 

 

For Visually Impaired Candidates Question 

 

(C) Tertiary 

20 E 

 

 

 

20 E 

1 

 

 

 

1 

17 (A) Only I, II and III are correct 64 P 1 

18 (A) Nordic countries 34 P 1 

19 (C) United States of America 51 P 1 

20 (C) Both (A) and (R) are true and (R) is the correct explanation of (A) 48-49 P 1 
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 Section B 

Very Short Answer Type Questions 

 (4X2= 

8) 

21 (a) Examine the role of the Constitution in the Federal System of India in 
two points. 
 

(i) The jurisdictions of the respective tiers of government are specified in the 
Constitution. 

(ii) The existence and authority of each tier of government is constitutionally 
guaranteed. 

(iii) Constitution provides the rules for coordination between Center and 
States. 

(iv) Any other relevant point.  
     (Any two points to be examined.) 
 

OR 
 

(b) Examine the role of the Supreme Court in the Federal System of India in 
two points. 
 

(i) The judiciary plays an important role in overseeing the implementation of 
constitutional provisions and procedures.  

(ii) In case of any dispute about the division of powers, the high court and the 
Supreme Court make a decision. 

(iii) It acts as the interpreter of the Constitution. 
(iv) Any other relevant point.  
     (Any two points to be examined.) 

15 P 

 

 

 

 

 

 

 

 

 

 

17 P 

 

 

 

 

 

 

 

2X1=2 

 

 

 

 

 

 

 

 

 

 

2X1=2 

 

 

22 “India has enormous possibilities of tapping solar energy”. Explain the 
statement with example. 

(i) India is a tropical country so there is a high potential of solar energy. 
(ii) Solar energy is fast becoming popular in rural and remote areas.  

(iii) Big solar power plants are being established in different parts of India.  
(iv) Any other relevant point.  

    (Any two points to be analysed.) 
 

54 G 2X1=2 

23 “Until the nineteenth century, poverty and hunger were common in Europe”. 
Analyse the statement. 
 

(i) Cities were crowded due to overpopulation. 
(ii) Shortage of food grains. 

(iii) Deadly diseases were widespread.  
(iv) Religious issues were common. 
(v) Any other relevant point.  

(Any two points to be analysed.) 

56 H 2X1=2 
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24 “Foreign trade results in connecting the markets in different countries.” 
Support the statement in context of globalisation. 
  

(i) Through opening of new avenues of investment. 
(ii) Through opening of job avenues and increase in the movement of people. 

(iii) Through information and communication technology. Examples Fax, 
emails, telecommunications etc. 

(iv) Through creating new services. 
(v) Through delivery of goods and services. 

(vi) Any other relevant point.  
 
(Any two points to be explained.) 

 

61-64 E 2X1=2 

 Section C 
Short Answer Type Questions 

 (5X3= 

15) 

25 Why could different persons have different notions of a country’s 
development? Explain with examples. 
 

(i) Different people may have different perspectives of development which 
might be in contrast to each other. 

(ii) Each one seeks different things. They seek things that are most important 
for them. 

(iii) To get more electricity industrialists may want more dams.  
(iv) This may submerge the land and disrupt the lives of people who are 

displaced, such as tribes.  
(v) They might reason this and may prefer small check dams or tanks to irrigate 

their land. 
(vi) Any other relevant point.  

 
(Any three examples to be explained.) 

 

4-5 E 3X1=3 

26 Describe any three features of commercial farming. 
 

(i) Use of high doses of modern inputs. 
(ii) Use of High Yielding Varity of seeds. 

(iii) Use of chemical fertilisers, insecticides and pesticides in order to obtain 
higher productivity.  

(iv) The degree of commercialization of agriculture varies from one region to 
another. 

(v) Plantation is a type of commercial farming. 
(vi) Any other relevant point. 

 
(Any three points to be described.) 
 

31 G 3X1=3 
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27 Explain the main functions of political parties. 
  

(i) Political parties contest elections. 
(ii) Parties put forward policies and programmes. 

(iii) Parties play a major role in the formation of laws. 
(iv) They form government. 
(v) They play the role of opposition.   

(vi) Any other relevant point.  
 
(Any three points to be analysed.) 
 

49 P 3X1=3 

28 “Sharing of power between the Union Government and State Government is 
basic to the structure of our Constitution.” Support the statement. 
 

(i) The Indian Constitution mentions different tiers of government- the Center 
and the State. 

(ii) Different tiers of government have their own jurisdictions which is 
specified in the Constitution. 

(iii) There are three lists mentioned in the Constitution providing powers to each 
level. 

(iv) The fundamental provisions of the constitutions cannot be changed by one 
level of government. 

(v) Any other relevant point.  
 
(Any three points to be explained.) 

 

8 P 3X1=3 

29 (a) How did people belonging to different communities, regions or language 
groups develop a sense of collective belonging in the National Movement? 
Explain with examples. 
 

(i) Use of language as a means to promote nationalism.  
(ii) Use of allegories (images). 

(iii) Creation of hymns in the praise of nation. 
(iv) Preparation of national flag. 
(v) Exploration and preservation of common folklore. 

(vi) Reinterpretation of history. 
(vii) Connecting the idea of nation with motherland and fatherland. 

(viii) Emphasising the notion of united community. 
(ix) Glorification of nation. 
(x) Any other relevant point. 

 
     (Any three points to be explained.) 
 

        Note: Nationalist movement of any country may be considered for 
explanation. Example- Indian folklore, Anandmath etc…. 

46-47 

H 

 

 

 

 

 

 

 

 

 

 

 

 

3X1=3 
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OR 

 
(b) “Workers had their own understanding of Mahatma Gandhi and the 
notion of ‘Swaraj’.” Explain the statement with examples. 
 

(i) For plantation workers in Assam freedom meant the right to move freely 
in and out of the confined space in which they were enclosed.  

(ii) It meant retaining a link with the village from which they had come.  
(iii) When they heard of the Non-Cooperation Movement, thousands of 

workers defied the authorities.  
(iv) They believed that Gandhi Raj was coming and everyone would be given 

land in their own village. 
(v) Workers defied ‘Inland Immigration Act’. 

(vi) Any other relevant point.  
(Any three points to be explained.) 
 

 

 

 

36 H 

 

 

 

 

 

 

 

 

 

 

3X1=3 

 Section D 
Long Answer Type Questions 

 (4X5= 

20) 

30 (a) “There is a need for protection and support of the workers in the 
unorganised sector.” Examine the statement with examples. 
 

(i) There are rules and regulations but unorganized sectors hardly follows 
these. 

(ii) Jobs are low paid.  
(iii) Jobs are not regular.  
(iv) There is no provision for overtime.  
(v) There is no provision for paid leaves and leave due to sickness.  

(vi) Employment is not secure. 
(vii) Ensuring the protection of workers in this sector is a matter of economic 

and social justification and for inclusive development. 
(viii) Any other relevant point. 

 
(Any five points to be examined.) 

 
OR 

 
(b) “Activities in private sector are guided by motive to earn profits”. Examine 
the statement with examples. 
  

(i) Ownership of assets and delivery of services are in the hands of private 
individuals. 

(ii) They charge money for the services. 
(iii) The facilities are based on earning and for profit making. 

32 E 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

33-34 E 

 

 

 

5X1=5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5X1=5 
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(iv) Activities are based on market approach and analysis. 
(v) Even for primary facilities like health, education etc they charge heavy 

amount. 
(vi) They seek competitive advantage.  

(vii) There are several things needed by the society as whole, which the private 
sector will not provide at a reasonable cost.  

(viii) Any other relevant point. 
 
(Any five points to be examined.) 

 

 

 

 

 

 

 

 

 

31 (a) How are industries the main source of water pollution? Mention any two 
suggestions for the conservation of water.  
 

(i) Water pollution is caused by organic and inorganic industrial wastes and 
effluents discharge into rivers. 

(ii) The main culprit in this regard are paper, pulp, chemical industries, etc  
(iii) Electroplating industries that let out detergents, acids, salts and heavy 

metals like lead and mercury pesticides, fertilisers into the water bodies. 
(iv) Fly ash, Phospho-gypsum and iron steel slags are the major solid waste in 

India. 
(v) Any other relevant point. 

(Any three points to be explained)                                    (3X1=3) 
 
Suggestions 
 

(i) Minimising use of water for processing by reusing and recycling it in two 
or more successive stages.  

(ii) Harvesting of rain water to meet water requirement. 
(iii) Installation of water saving equipments. 
(iv) Any other relevant point. 

(Any two points to be described.)                                         (2X1=2) 
 

OR 
 
(b) How are industries the main factor for air pollution? Mention any two 
suggestions to overcome the problem of air pollution. 
 

(i) Air pollution is caused by the presence of high proportion of undesirable 
gases. 

(ii) Airborne particulate materials contain both solid and liquid particles like 
dust, sprays, mist and smoke.  

(iii) Smoke is emitted by chemical and paper industries, brick cleanse, refineries 
and smelting plants.  

(iv) Leakage of toxic gases from industries. 
(v) Any other relevant point.  

(Any three points to be described.)                                    (3X1=3) 

66 G 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

66 G 

3+2=5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3+2=5 
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Suggestions  
 

(i) Particulate matter in the air can be reduced by fitting smoke stacks to 
factories with electrostatic precipitators.  

(ii) Use of fabric filters, scrubbers and inertial separators.  
(iii) Smoke can be reduced by using oil and gas instead of coal in the factories. 
(iv) Any other relevant point. 

(Any two points to be described.)                                         (2X1=2) 
 

 

 

 

 

 

 

32 (a) Why do people prefer democracy over other alternatives? Explain with 
suitable arguments. 
 

(i) Promotes equality among citizens.  
(ii) Enhances the dignity of the individual.  

(iii) Improves the quality of decision making  
(iv) Provides a method to resolve conflicts.  
(v) Allows room to correct mistakes. 

(vi) It is accountable and responsive. 
(vii) Accomodation of social diversity. 

(viii) Any other relevant point. 
 
(Any five points to be analyzed.) 
 

OR 
 

(b) How is democracy an accountable and efficient system of government? 
Explain with suitable arguments. 
 

(i) Democracy is accountable to the citizens who elect the government.  
(ii) Responsive to the needs and expectations of the citizens.  

(iii) Democracies are based on the idea of deliberation.  
(iv) It may take decisions that are accepted by the people. 
(v) It is a transparent government. 

(vi) Any other relevant point. 
 

         (Any five points to be analyzed.)  
 

64 P 

 

 

 

 

 

 

 

 

 

 

 

 

65 P 

5x1=5 

 

 

 

 

 

 

 

 

 

 

 

 

5x1=5 

 

33 (a) “The French Revolution created a sense of collective identity among the 
French people.” Explain the statement with suitable arguments. 
 

(i) France was a full-fledged territorial state in 1789 under the rule of an 
absolute monarch.  

(ii) The political and constitutional changes came in the wake of the French 
Revolution. 

5-6 H 

 

 

 

 

5X1=5 
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(iii) It led to the transfer of sovereignty from the monarchy to a body of french 
citizens.  

(iv) The revolution proclaimed that it was the people who would henceforth 
constitute the nation and shape its destiny. 

(v) The French introduced various measures and practises which emphasized 
the notion of united community, enjoying equal rights under the 
constitution.  

(vi) The idea of la patrie (the Fatherland) and le citoyen (the citizen) 
emphasised the notion of a united community enjoying equal rights under 
a constitution. 

(vii) New hymns were composed, oaths taken and martyrs commemorated.  
(viii) French became the common language of the nation. 

(ix) Any other relevant point. 
 
(Any Five points to be Explained.) 

 
OR 

 
(b) “The Greek war of independence mobilised nationalist feelings among 
the educated elite across Europe.” Explain the statement with suitable 
arguments. 
 

(i) Greece had been part of the Ottoman Empire since the fifteenth century.  
(ii) The growth of revolutionary nationalism in Europe sparked off a struggle 

for independence amongst the Greeks, which begin in 1821. 
(iii) Nationalists in Greece got support from other Greeks living in exile and 

also from many West Europeans who had sympathies for ancient Greek 
culture.  

(iv) Poets and artists lauded Greece as the cradle of European civilization. 
(v) Public opinion was mobilised to support its struggle against a Muslim 

empire.  
(vi) The English poet Lord Byron organised funds and later went to fight in the 

war. 
(vii) Any other relevant point. 

 
(Any five points to be explained.) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

13 H 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5X1=5 

 

 

 

 

 

 

 Section E 
(Case-Based/ Source Based Questions) 

 (3X4= 

12) 

34 Read the following source carefully and answer the questions that follow: 
 

After the revolt of 1857, the attitude to freedom of the press changed. Enraged 
Englishmen demanded a clamp down on the ‘native’ press. As vernacular 
newspapers became assertively nationalists, the colonial government began 

 

 

127 H 

1+1+2=

4 
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debating measures to stringent control. In 1878, the Vernacular Press Act was 
passed, modelled on the Irish Press Laws. It provided the government with 
extensive rights to censor reports and editorials in the vernacular press. From 
now on, the government kept regular track of the vernacular newspapers 
published in different provinces. When a report was judged as seditious, the 
newspaper was warned, and if the warning was ignored, the press was liable 
to be seized and the printing machinery confiscated. 
 
(34.1) On which rule was the ‘Vernacular Press Act’ based?           (1)                                                     
          - Irish press law 
 
(34.2) Why did the attitude of the British change towards the freedom of 
press after the Revolt of 1857? Explain.                                              (1) 
       - Because vernacular newspapers became assertively nationalists. 
 
(34.3) Explain any two impacts of passing the ‘Vernacular Press Act.’                                                        
                                                                                                              (2X1=2)  

(i) It provided the government with extensive rights to censor reports. 
(ii) The government kept regular track of the vernacular newspapers 

published in different provinces. 
(iii) Any other relevant point. 

(Any two points to be explained.) 
 

 

 

 

 

 

 

 

 

35 Read the following source carefully and answer the questions that follow: 
 

Loans from Cooperatives 
 

Besides banks, the other major source of cheap credit in rural areas are the 
cooperative societies or cooperatives Members of a cooperative pool, their 
resources for cooperation in certain areas There are several types of 
cooperatives possible, such as farmers cooperatives, weavers cooperatives and 
industrial workers cooperatives, etc. Krishna Cooperatives functions in a 
village not very far away from Sonpur. It has 2300 farmers as members. It 
accepts deposits from its members. With these deposits as collateral, the 
cooperative has obtained a large loan from the bank. These funds are used to 
provide loans to members. Once these loans are repaid, another round of 
lending can take place. Krishna cooperative provides loans for the purchase 
of agriculture implements, loans for cultivation and agricultural trade, fishery 
loans, loans for construction of houses and for a variety of other expenses. 
 
(35.1) ‘Cooperative society’ is an example of which source of ‘credit’?       (1)        
          - Formal source of credit. 
 
(35.2) Explain the contribution of Cooperative Societies in rural 
development.                                                                                                       (1)  

 

 

47 E 

1+1+2=

4 

 

 

 

 

 

 

 

 

 

 

 

 

www.studentbro.inwww.studentbro.inwww.studentbro.in



- Meets the requirements of rural people like purchase of agriculture 
implements, loans for cultivation and agricultural trade, etc.                                                                                  

 
(35.3) Mention any two sources of capital for Self-Help Groups.         (2X1=2)                  

(i) Contribution from members.  
(ii) Loans from banks.  

(iii) Interest on loans given by Self Help Groups. 
(iv) Any other relevant point. 

(Any two points to be explained.) 
 

36 Read the following source carefully and answer the questions that follow: 
 

Conservation of Resources 
 

Resources are vital for any developmental activity. But irrational 
consumption and over-utilization of resources may lead to socio-economic and 
environmental problems. To overcome these problems, resource 
conservations at various levels is important. This had been the main concern 
of the leaders and thinkers in the past. For example Gandhiji was very apt in 
voicing his concern about resource conservation in these words: “There is 
enough for everybody’s need, and not for anybody’s greed.” He plays the 
greedy and selfish individuals and exploitative nature of modern technology 
as the root cause for the resource depletion at the global level. He was against 
mass production and wanted to replace it with the production by the masses. 
 
(36.1)   Define the term ‘Resource Planning?                                                 (1)                                                                                                                          

- Resource planning is a complex process which involves identification and 
inventory of resources across the regions of the country. 
 

(36.2)   Explain the need for conservation of resources.                                (1)                                                                                          
- Irrational consumption and over utilisation of resources may lead to socio 
economic and environmental problems. 

 
(36.3) Why did Gandhiji say – “There is enough for everybody’s need and 
not for any body’s greed?” Analyse any two reasons.                         (2X1=2)                                                                                                        

(i) He placed the greedy and selfish individuals and exploitative nature of 
modern technology as the root cause for resource depletion.  

(ii) He was against mass production and wanted to replace it with the 
production by the masses. 

(iii) Any other relevant point. 
 

 (Any two points to be mentioned.) 
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37  (a) Two places ‘A’ and ‘B’ have been marked on the given political outline 
map of India. Identify them with the help of the following information and 
write their correct names on the lines drawn near them: 

 
A. The place where Gandhiji started Satyagraha for indigo peasants.        (1) 
B. The place where Gandhiji broke the Salt Law.                                      (1) 

             
                (Please see the attached map.) 
 
(b) On the same political outline map of India, locate and label any three of 
the following with suitable symbols:                                                    (3X1=3) 
 

(i) Naharkatia- oil field 
(ii) Talchar- Major Coal Mines 

(iii) Narora- Atomic Power Plant 
(iv) Tuticorin- Major Sea Port 
                  
             (Please see the attached map.) 

  

 Questions For Visually Impaired Candidates only in lieu of Q. No. 37 
(Attempt any Five) 
 
(37.1) Name the place where Gandhiji started Satyagrah for indigo peasants.  
        - Champaran 
(37.2) Name the place where Gandhiji broke the Salt law.  
        - Dandi 
(37.3) In which state is Naharkatia oilfield located?  
        - Assam  
(37.4) Name the state where Talcher major coal mines are located.  
        - Odisha 
(37.5) Name the state where Narora Nuclear Power Plant is located.  
        – Uttar Pradesh 
(37.6) In which state is Tuticorin sea port located?  
       – Tamil Nadu 
 

 

 
 

5x1=5 
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